
  

Calculer :

1−
6
7



  

Correction :

1−
6
7
=

7
7
−

6
7
=

1
7



  

Calculer :

5−
6
7
×

7
6



  

Correction :

5   - 1

5−
6
7
×

7
6

4

La multiplication est
priorité.



  

Calculer :

2−23



  

Correction :

2   - 8

- 6

La puissance est
priorité.

2−23



  

1,2 h = …... h …... min  



  

Correction :

1,2 h = 1 h 12 min  

0,2 h =      h =        h     
2

10
1
5



  

Écrire sous la forme de la
puissance d'un nombre :

1099
×10



  

Correction :

1099×10=1099+1=10100

Un gogol
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